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INSTRUCTIONS S BB B

1-6. SUDOKU CUBE
Solve six sudokus using standard rules: each row, column and outlined 2x3 area should have each digit from 1 to 6
exactly once. Digits occupied the same cells (for example the top left corner) should be different in these six grids.

6 2 4 2/4|506]1|3 6|/5(412|3|1 3|2|1}5|6]|4

6 6|3|112|5|4 3/1|2)4|/6/|5 5/4(6]3|1]|2

6 1534|226 261543 4,13|1216|5]|1

3 3 416|213 |5 543|612 6(1[5014|2|3

6 526341 4,13|541|2|6 116412 |3|5

6|2 3[1[4]5|6]|2 12|63 |5|4 2|5[3]1]4|6

R ——

6 1 113 563142 411/643(2|5 1/3|2]4|5|6

4 3 1 4 1/2|415|3|6 2|5(3f6|4|1 416 |511|2]|3

2 3 3|4|6J2|1|5 6|2|501|3|4 5(1|4]3|6|2

5 1 2|6 2|5(1]3|6|4 1/3|412|5|6 3|/2|6]5(4]|1

6 612453 3|4|1]5|6|2 2|5(3]6|1|4

4 5 41 4|13|506(2|1 562413 6|4(1]2|3|5
Answer format: Write the content of two main diagonals — first from top left corner to bottom right, then from bottom

left to top right.
Score: 40 points for the first solved puzzle (there may be any grid) and 10 points for each next.

7-12. SUDOKU SUM-DIFFERENCE
Fill in the grid using standard sudoku rules: each row, column and outlined 3x3 square should have each digit from 1
to 9 exactly once. Dots between cells show all pairs of digits which sum or difference is equal to the fixed value (each
grid has each own value: 3, 4, 5, 6, 7, 8).

VALUE 3 VALUE 4 VALUE 3 VALUE 4
7 7 719]4]8is]e[1]3]2] [olsT1[4]3]8]6i2]7
[ |6 3 HEREEREERE [1]6]8|2]3]9f4a77]5] [8]6[3]2]5|7[1]4]0
6 4] | ] IEX N 3l215]ai7]1]0t6]8 4]7]216|9]1{5]3]8]
8 4l T T 2] 8l 3l1|ol4al2]6]5]7| [2]8]7]s]2]4][3]9]6
2 2 olal7lel8lis|a]2i1] [3]4]o]7]8]6]2]1]5
3 8 6 295|683/ 1]7|8]|9l4a]| |6i2]5{0|1i3]{7|8l4
3| Te] [27.1.] [7 1] ai7]3|s5]el8|271]9]| [7]9]8]|3]6l2]4a]5]1]
8 ] 1 8 sigl291/9]3]|7¢4]6 2l1l4i8|7]|5]9]6
7 8 4 6/1]9|7/2]4|si8]3] [5]3]e]l1]4a]o|s]7
—
VALUE 5 VALUE 6 VALUE 5 VALUE 6
9] |2 4 3] [s 718 ol8l2]1/5]4a]6]7]3] [6lelo][7]8]s5[3]2]4
9| |s 3/7]s|el8lof2]1ia] [7]8]s|al2]3]{ol1]s
1 8 3 5 4le6f1|213]7]8l9]s| [4]3]2]6]1]9]s5]8]7
7 6 4 8 5 70479 8165|302 1]204l9]7]8l6|3]5
9 RK REER 8| 213|9o7als|176]7| [3]7]6|175]4ay2]9]8]
5 4 3 7 5/146|77293[4]8]a] [o]l5/8l3le|2]{al7]1
1 7 613 4|5/ 7/8[9]2]1] [5]4]7]|2]3]1[8]6]0
4 3 6 1] 4 1]ol7]4]6]2y3]s]8]| [sle]3|s]o]7{1]4]2
2 3 1 2)s5|8lalol1|7]al6| [2]9/1]lsl4]|6|7]5]3
VALUE 7 VALUE 8 VALUE 7 VALUE 8
4 2 4] 1 ol7]8[37al6l1]sd2] [7]8Ta[1]o]s[6]3]2
4 7 YE 2 4] s5le6lal2]1]7]e]3]s ol3lels|7]2]1]5]4]
1 8 6 1]2]3]8]s|olal7]6| [s5]1]2]3]6]als]7]0
45 N 28 6lals[1[2[8]7]9]3] [375]7]ef4]1]2]8]s
3 8 2] |8 3lol1|7]els|s]2]4] [2]o]8lsl5ia|al1]7
7 2 7|3 | | 2)8]7|ol3ialeda]s]| [6]ala]2]8]7]3]9]5]
8 3 7 8| 5]|o|47]2[3]61] [8]7]5|4]3]6|9|2]1
6 3 of [1] 2 4|3 7l1t6|5/8]3|2]4a]9]| [1]6]9]|s]2]8][7]4]3
6 5/ |7 3 5 413 2]6lo]1ls5]8]7] [4]2]3]7i1]9]s5]6]8
Answer format: Write the content of two main diagonals — first from top left corner to bottom right, then from bottom

left to top right.
Score: 25 points for each puzzle.



13. OPTIMIZATION
Find cell chains (more than one) in the grid which contain the same digits sequence. Chains can touch (itself and each
other) even by the side but cannot intersect. Maximize the number of cells which belong to the chains.

4 8 1 7 9 2 5

5 7 1

9 365 1 7 Example:

8/1|5/9/7 234 Three chains of 6 cells each: 6-2-4-8-6-3, total 18 cells.
LAERETE . j 2 2 Score: 3x(18-10) = 24 points

14 9 8 2 7 6 5 3

2 6 7 1 3 5 8 4 9

Answer format: Write the number of chains and digits for them. For the example the answer would be 3x368426
Score: 3 points for each cell over 10.

14-19. MATCH MAKER
Fill in the grid using standard sudoku rules: each row, column and outlined 3x3 square should have each digit from 1
to 9 exactly once. Each of six puzzles has one additional rule. You should determine the rule corresponded for the

puzzle. Each rule is used only for one puzzle. The rules: ®
1. Sudoku with diagonals. O O
Both main diagonals should have different digits. @ - @)
2. Sudoku “Two stars”. ONONONC
Both stars (see the picture) should have different digits. e S o
3. No touching sudoku. JO QO
Cells with the same digits could not touch even diagonally.
4. Knight sudoku.
Cells connected with a chess-knight move could not contain the same digits.
5. Sudoku with irregular areas.
The grid should satisfy sudoku rules for irregular areas (see the picture) as well as for square
areas.
6. No consecutive sudoku.
Cells with consecutive digits (two digits differ by 1) could not touch by the side.
A B A NO CONSECUTIVE B WITH DIAGONALS
1 2 9]6 1]s5|8lale|3]o]7]2] [2|5]|8]a]o|6]1]3(D
8 1]4 6 3lolel|s|2]7]5]|1]4 s(ale|s|1]7]5(92
8 1 AR 7l2]af1]o|5]8]3]s6 9l1{7|s|3|2[a|6]s
2 5 6 9 2lal7]9l5]8]3]6|1 71296 4a{D]8]|5]3
8 9 9 1 s5/8l[3|e|1]a]7]2]09 4|3|s5]|2(8)]9]s]7]2
1 7 8 3] 7 ole|1]|3|7]2]a]s]|5 68|13 7(5|o2]4
2] 4 9 7 8|6 6/1]5|7|3]9]2]4]s 1]9(2]7|5]4[3)]8]6
1 8 7 5 al7]2|s]sl1|6|o]3 s(e|a|lol2]3|7(D]5
9 4 7 5(7 4]0 sl3lo|2lale|a]|s|7] [ 7]3]1]6]8]2]4{9
c D e T CTwOSTARS D NO TOUCHING
8 5 2 7 6 4(8)|1[5)]6|7]9]2]3 1]5]7]8|3]afa]6]2
9 4 9 2]4 1 5 (9| 2]6|8(9)1]a]7]5 slo|s]|2lale|2]7]5
7 8 6 2 1]5 s|o(Dal3|2]s8]1]se 2]6|al7]1]5]|9]|8]3
4]3 3 2 (2] 1]9]6(a)]3]7]|5]s al3|1|s]6]|8]7]2]9
1 9 5 9 4 s(8)] 5|0 79|39 2 s/7]le|ol2]al3]2]s
3 6 1 7 5 71al3|2(9))s|6|o(D| [9]2]s|3]7]1]6]|5]4
6 7 5 4 1 6/3[2]7]|1]4]5)]8]09 7]al9]6|5]2]8]3]1
54 2 7 1 4 3 ols|al3(2|s|1]6(D| |6]|1]2]als][3]5]0]7
AE 6 3 9 2 6 1]7]8|9]s5{6|2{3)]4 sls|s|1]o|7]2]4]se
E F E KNIGHT F IRREGULAR AREAS
61 6 2 4|3 slalolel1]3]|s5]2]7 6|8|2|71]4]3]9]5
7 1 5 7 2/7]3]|9ls|s]|6]a]1 3|1]4a]ols]8]6|7]2
6|51 8 4 6|5|1|2]a]7]|9]8]3 ol7]s5|2|6]3]s|1]4
7 2] 3 9 2 s5/1]8lal7]o]2]3]s6 s|e6|o[al2]1]a]5]7
3 9 4 7 3 3l2]6]|s|s]1]a]|7]0 al2|1|s]7]e]o]8]s
97 6 8 3] 7 2 alo|7|3]2]6]1]|5]s s5|3|7]a]s]o]1]2]6
9 3 4 5 1 olg|s|7|6]2]3]1]4 714]8l6|o]s]2]3]1
1 4 7]6 8 2 6 113]4|s|9|s|7]6]2 1]5|3]8|al2|7]6]09
5 6 3 7/6|l2]1]3|4|8]9]s 2]9l6|1|3]7]5]4a]s
A B C D E F A B C D E F
With diagonals With diagonals X
Two stars Two stars X
No touching No touching X
Knight Knight X
Irregular areas Irregular areas X
No consecutive No consecutive X

Answer format: Write the content of two main diagonals — first from top left corner to bottom right, then from bottom
left to top right.
Score: 40 points for each puzzle.



